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SOCIOLOGY
Paper 11
Time Allowed : 1% Hours] | [Maximum Marks : 100

Note :— This question paper contains fifty (50) multiple choice questions. Each

question carries two (2) marks. Attempt all questions.

I “Sociology is the study of social representation”, who has said this ?
(A) E. Durkheim (B) W.F. Ogburn
(C) H.M. Johnson (D) F.H. Giddings

2 Who defined Sociology is ‘an analytical study of social actions’ ?

(A) A. Comte (B) K. Marx

(C) H. Spencer (D) Max Weber

3. Who has written a book on, ‘Society’ ?

(A) R.M. Maclver and C.H. Page

(B) Alex Inkeles

(C) H.M. Johnson

(D) T.B. Bottomore
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4. Who has defined the concept of “Looking glass-self” among the following ?

(A) G.H. Mead

(C) C.H. Cooley

(B) S. Freud

(D) HH. Wrong

5. Match List I to the List II and select the correct answer using the codes given

below the lists :

List I

(@) J.S. Mills

(6) E. Nagel

(e) P. Winch

(d) Max Weber

Codes :

(@) (b) (c)
(A) (1) (@ (iv)
(B) (&) (i) @
(C) (iv) (i7) @)
(D) @ (i7) (i)

T.B.C. : 13/17/ET—II
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6. Which of the following pairs is not correctly matched ?
(A) G.H. Mead and Symbolic Interactionism
(B) Herbert Blumer and Symbolic Interactionism
(C) E. Durkheimland Functionalism
(D) Max Weber and Social Fact

T Comte’s philosophy is based on :

(A) Structuralism (B) Positivism
(C) Marxism (D) Functionalism
8. According to Durkheim, social facts :

(A) Are not culturally created
(B) Do not have coercive power
(C) Are external to the individual
(D) Are axiomatic truth

9. The book “The Idea of Social Sciences” has been written by :
(A) B. Malinowski (B) Robert Redfield

(C) G. Simmel (D) P. Winch
T.B.C. : 13/17/ET—II 6
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10.

I § =

T-B.C: :

Match List I to the List IT and select the correct answer using the codes given

below the lists :

List 1

(a) A. Comte

(b) H. Spencer

(¢c) Max Weber

(d) E. Durkheim

Codes :

@  ® ©
@ @) @) G
® O @ )
© G G @)
O G @ (i)

List Il
() Division of Labour
(z1) Organié analogy |
(zit) Law of three stages

(7v) Religion and Economy

(d)
@
(iiz)
@)

(ez)

Any tentative statement which is liable to prove or disprove is a :

(A) Hypothesis

(C) Theory

13/17/ET—II

(B) Concept

(D) Fact
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12. The book on ‘Scientific Social Survey and Research’ is written by :
(A) Goode and Hatt (B) A. Kaplan
(C) P.V. Young (D) C. Hampel

13. Research conducted for the purpose of developing scientific theories is

known as :
(A) Applied Research (B) Pure Research
(C) Individual Research (D) Action Research

14. According to Karl Marx, which one of the following is not a dimension of

alienation 7 .

(A) Alienation from production (B) Alienation from labour

(C) Alienation from nature (D) Alienation from self
15. Name the author of the book ‘Positive Philosophy’ :

(A) E. Durkheim (B) Herbert Spencer

(C) A. Comte (D) Karl Marx

T.B.C. : 13/17/ET—II 10
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16. Max Weber’s Sociology is known as :
(A) Empirical Sociology (B) Interpretative Sociology
(C) Ideal Sociology (D) Scientific Sociology
17. Symbolic Interactionism emphasizes :
(A) Culture
(B) External determinants of behaviour
(C) The structural units of society
(D) The subjective process

18. “Capitalism is sowing seeds of its own degeneration.” This vehement

condemnation is by :
(A) Karl Marx (B) Max Mullar
(C) J.S. Mill (D) E. Durkheim

19. “In contrast to classes, status groups are normally communities. They are,

however, often of an amorphous kind.” Who said it ?
(A) Max Weber (B) Andre Bétéille

(C) R. Dahrendorf (D) R. Dahl

T.B.C. : 13/17/ET—II 12
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20. The process of interlizing the culture of society is called :
(A) Diffusion _ (B) Enculturation
(C) Evolution (D) Acculturation
21. The individual tends to lose his individuality in being a part of a/the :
(A) Family (B) Social Group
(C) Crowd (D) Kinship Group

22. The following consists of two statements, one labelled as Assertion (A) and
the other labelled as Reason (R). Examine the two statements carefully and

select the correct answer using the codes given below it :

Assertion (A) : The monad cannot be called a social group.

Reason (R) : A social group by deﬁnition.involves two or more persons.
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

T.B.C. : 13/17/ET—II 14
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23. According to Talcott Parsons, every social system performs ........cceerveennnns

function/s.
(A) Adaptation (B) Goal Attainment
(C) Integration (D) All of these

94. Who has defined status as, “a position in the general institutional system” ?
(A) R.K. Merton (B) K. Davis
(C) R. Linton (D) AW. Green
25. Who has given the .concept of reflexive role taking ?
(A) G.H. Mead (B) C.H. Cooley
(C) R. Linton (D) R.K. Merton
26. Who used the concept of ‘Ideal Type' ?
(A) V. Pareto (B) Max Weber

(C) T. Parsons (D) Karl Mannheim

T.B.C. : 13/17/ET—II 16
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27.  Match List I to the List I and select the correct answer using the codes given

below the lists :

List I List II
(@) Relative and Non-Relative roles () Ralph Linton
(6) Multiple roles and role-set (zz) T.M. Newcomb
(¢) Prescribed Role (zzz) R.K. Merton

(d) Ascribed and achieved statuses (fv) S.F. Nadel

Codes :
@) ®) © )

@ G G . Go)

® G @ GiD) (o)

© G @ @ G

O G @) G 0 .

28. Who has given the concept of automistic family ?
(A) G.P. Murdock (B) W. Warner

(C) Carle Zimmerman (D) B. Malinowski
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29. The form of marriage in which a woman of the upper Varna marries a man

of the lower Varne is known as :
(A) Hypergamy (B) Hypogamy
(C) Polygamy | (D) Endogamy
30. The economy of complex society is characterized by :
(A) Stratification : (B) Differentiation
(C) Specialization (D) All of these
31. The Laissez~faire doctrine was an attack on :
(A) Liberalism (B) Monetarism
(C) Mercantilism (D) Colonialism
32. Who considered politics as one of many social activities ?
(A) Jermy Bentham (B) Thomas Hobbes

(C) Michael Oakeshott (D) David Hume

T.B.C. : 13/17/ET—II 20
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33.

34.

35.

36.

Who envisaged modern democracies as a form of elite domination ?.

(A) Vilfred Pareto (B) Gitano Mosca

(C) Karl Marx (D) De Tocqueville

Who has given the “Power elite” theory ?

(A) C. Wright Mills (B) V. Pareto

(C) Max Weber (D) None of these

Who introduced the term stateless society ?

(A) Paul Bohannan (B) Evans-Prichard

(C) B. Powell (D) A. Giddens

Vertical social mobility involves :

' (A) Change in role (B) Change in occupation

(C) Change in group (D) Change in social class position

T.B.C. : 13/17/ET—II 22
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37. Education is an instrument of social change in context to :
(A) Removal of obstacles (B) Spread knowledge
(C) Bring social awakening (D) All of these

38. Who has written a book on, “Sociology of Knowledge™ ?
(A) W.I. Thomas (B) Karl Mannheim
(C) William James (D) E. Goffman

39. Who has developed the concept of social development ?
(A) O. Spengler (B) L.T. Hobhouse
(C) L. Whyte (D) None of these

40. According to Durkheim, which of the basic element/s has the structure of

religion ?
(A) Sacred objects (B) Followers/adherents
(C) Belief and Practices (D) All of these

T.B.C. : 13/17T/ET—II 24
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41. Who among the following has divided religious organizations into dominations

and cults ?
(A) Max Weber (B) Ernst Troeltsch
(C) Howard Becker (D) Robert K. Merton

42.  With which of the following typologies is Herbert Spencer associated ?

(A) Gemeinschaft ............. Gesellschaft

(B) Status............. Contract

(C) Military Society ............. Industrial Society
(D) Mechanical Society ............. Organic Society

43.  Radcliff-Brown’s first ethnographic study was on the :
(A) Nicobar Islands (B) Andman Islands

(C) Island in Jersey (D) Santa Catalina Island

T.B.C. : 13/17/ET—II 26
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44.  Which of the following constitutes “social change” ?

(@) Change in human composition

(b) Expansion in technology

(e) Change in ideologies and values

(d) Change in institutional structure and function

(A) (@), (b) and (d) (B) (a) and (d)
(C) (c) and (d) D) (a), (), (c) and (d)
45. e implies a change toward equality, rationalism and
secularism.
(A) Westernization (B) Sanskritization
(C) Modernization (D) Urbanization

46.  Growth, development and continuity are found in which of the following ?

(A) Progress (B) Diffusion

(C) Revolution (D) Evolution
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47.

48.

49,

50.

Mode is :

(A) Least frequent value (B) Middle most value

(C) Most frequent value (D) None of these

Range is a measure of :

"(A) Central Tendency (B) Dispersion

(C) Median (D) Correlation

Who has used participant observation in the study of a slum area in

US.A. ?
(A) W.F. Whyte : (B) B. Malinowski
(C) D.F. Lazarsfeld (D) R.K. Merton

Who has argued that anticipatory socialization takes place due to reference

group behaviour ?

(A) H.H. Hyman (B) R.K. Merton

(C) C.H. Cooley (D) M. Mead
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